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QUESTION 1

An administrator is trying to synchronize a new cloud template into the App-Dev project. The administrator copies the
cloud template code directly from Cloud Assembly into a text file and uploads it into the Github repository so that it can
be synchronized to the App-Dev project.

When the administrator clicks ‘Synch Repos’, a new cloud template does not appear.

Which step must the administrator take to allow it to synchronize from the Github repository?

A. Add the name and version to the cloud template YAML code.

B. Clone the cloud template

C. Release the cloud template

D. Upload the cloud template

Correct Answer: A

Reference: https://docs.vmware.com/en/vRealize-Automation/8.0/Using-and-Managing-Cloud-Assembly/
GUID-1847AC57-157A-4319-B425-A1A4731C9DDA . html

QUESTION 2
An administrator is looking to install SaltStack Config to integrate with existing vRealize Automation environment.

Which two pre-requisites must be met to complete the installation using vRealize Suite Lifecycle Manager? (Choose
two.)

A. Access to NSX-T Load Balancer

B. Integrate vRealize Automation with Active Directory
C. Access to a vRealize Automation tenant

D. A valid vRealize Automation license key

E. Access to NSX-T Data Center cloud account

Correct Answer: BD

QUESTION 3

While deploying a virtual machine cloud template, an administrator encounters the following error:
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Error: com.vmware xenon.common LocalizableValidationException: Unable to find a valid subnet
for netwaork ‘Network External’ of fype 'EXISTING' with constraints ‘[dc:metro, ter:1]’, reasons:
[Network profile ‘publicnet / Metro’ was skipped because [Network [Network External] allocation:
cannot allocate a network with static IP ranges for profile ‘publicnet / Metro™ ]]

Where should the administrator start to troubleshoot? (Choose the best answer.)
A. Projects

B. Network Profiles

C. Tags

D. Cloud Zones

Correct Answer: C

QUESTION 4

An administrator is trying to create a new set of image mappings that will map to vSphere templates that have been
added to an existing vCenter Server cloud account. When the administrator tries to select the Windows Server 2016
image, nothing appears on the list. The administrator has confirmed that the vSphere template exists in the correct
location within vCenter Server.

Which action should the administrator take to be able to create the new image mapping? (Choose the best answer.)
A. Validate the vCenter Server cloud account credentials.

B. Check to make sure image synchronization is successful for the vCenter Server cloud account.

C. Make sure the correct NSX endpoint is selected for the vCenter Server cloud account.

D. Add a new capability tag to the vCenter Server cloud account.

Correct Answer: B

QUESTION 5

On which platform is CloudBase-Init used to execute user-provided scripts? (Choose the best answer.) Linux
A. Linux

B. MacOS

C. Kubernetes

D. Windows
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Correct Answer: D
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